10471A CFR Wonder Wand Twin Jet Parts Schematic

AMTECHUK

Professional Cleaning Equipment

0

-

B

For more detailed parts information please see the list below.



10471A CFR Wonder Wand Twin Jet Parts Schematic

Ref#  Item# Description Ref#  Item# Description

1 70068A  Handle, U-Type 11 71700A Clip Header Retainer
2 7CA001 Screw, 1/4-20X 1/2” HHMS SS 12 WWTR Roller

3 60400B Strainer Assembly, In-Line 13 7BS001 Screw #10-24X 1/2” Phillips PHMS
4 71871A O-Ring, ILS 14 WWH43 Teflon Hose Assy

5 72140A Filter, ILS 15 71634A Nut, Nyloc 1/4

6 WWM Manifold 16 WWB Roller bracket

7 72488A Brass Nozzle Body 17 WWTB Teflon roller bushing
8 72725A Seal for Nozzle Body 18 70101A Nipple, QD 1/8M

9 72489A Spray Tip, SS 19 70100A Coupler, OD 1/8 F

10 71532A Screw #4-40X3/16” Phillips PHMs 20 72413A Check Valve

To order, simply click on the part in the list above
or contact our service/parts department on 01444 232211


http://www.amtechuk.co.uk/shop/powr-flite-wonder-wand-inline-filter-pid-446.html
http://www.amtechuk.co.uk/shop/powr-flite-wonder-wand-inline-filter-pid-446.html
http://www.amtechuk.co.uk/shop/Filter_Inline_Strainer-pid-417.html
http://www.amtechuk.co.uk/shop/Filter_Inline_Strainer-pid-417.html
http://www.amtechuk.co.uk/shop/Brass_Nozzle_Body-pid-408.html
http://www.amtechuk.co.uk/shop/Brass_Nozzle_Body-pid-408.html
http://www.amtechuk.co.uk/shop/replacement-cfr-wonder-wand-nozzle-seal-pid-458.html
http://www.amtechuk.co.uk/shop/replacement-cfr-wonder-wand-nozzle-seal-pid-458.html
http://www.amtechuk.co.uk/shop/Nozzle_Stainless_Steel_Wonder_Wand-pid-409.html
http://www.amtechuk.co.uk/shop/Nozzle_Stainless_Steel_Wonder_Wand-pid-409.html
http://www.amtechuk.co.uk/shop/Clip__Wand_Header_Retainer-pid-385.html
http://www.amtechuk.co.uk/shop/Clip__Wand_Header_Retainer-pid-385.html
http://www.amtechuk.co.uk/shop/Nipple__QD_1_8M_-_1_8F_-pid-387.html
http://www.amtechuk.co.uk/shop/Nipple__QD_1_8M_-_1_8F_-pid-387.html
http://www.amtechuk.co.uk/shop/Coupler__QD_1_8_F-pid-386.html
http://www.amtechuk.co.uk/shop/Coupler__QD_1_8_F-pid-386.html
http://www.amtechuk.co.uk/shop/72413a-cfr-check-valve-pid-614.html
http://www.amtechuk.co.uk/shop/72413a-cfr-check-valve-pid-614.html

